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x2—c? if x<4

. Let
et 909= {cx+20 if x>4
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. Find the constant c¢ that makes g continuous on
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10.

11.

12.

13.

14.

15.

Let y=f(u) and u=g(x), where f and g are twice differentiable
functions with f@Q)=-1, f'()=-2,

2
9"(0)=3. Then %2

f'@)=3,

dx?lx=0

1

9(0)=1,

9g0)=2,

Let f(x) =[5 = dr , where g(x) = [{**(1 + sin(t?)) dt.

Find f' (%) =

X

Given that f(x) = IHT , the maximum value of f(x) is

Evaluate 1im( L l) =

t—0 \tv1+t t

Find the inverse function f'(x) of f(x)=

4x

-1
2X+3

f1(x) =

Find the area of the region bounded by the curves y=sin’x, y=sin®x,

0<x<r.

and

Find the directions in which the directional derivative of f(x,y)=x*+sinxy at

the point (1,0) has the value 1.

The area under the curve Y = sinvx from x =0 to x = 2
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1. Fnmdedgz=4—x>—-2y* foxy —T 6 5 Kz B RS A -

2. If lim (H—a)x=e » then a = ?

X—00

3. Find the interval of convergence of the series Z (”3%2)"
na3"

n=1
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4. Find the maximum positive number J = such that: If 0 < |z| < 0 then

S g
e =1 < 5

5. Evaluate [In(x? +1)dx=?



